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H4EY okt x| = mofY | Hoj off | §X|HF | 4ERY
14 3 514 74 1044
SIZXZ=AE A 15 | GRCILZC | 20010205 | WO4=E 10,590 Rk 62.61 90.65 90.79 61.22 74.65
OIZX|{Z=AE OPMS 135 | OFRICIQ2C | 20010205 | WO§E 12,895 ObE & 63.24 88.87 85.76 77.29 86.31
OIZX|{Z=AE OPMS 25 | OFRICIQZC | 20071024 | WOIE 24,307 ObE & 91.2 99.16 94.24 90.67
GIZAE XY HS 1S (FSILY | UBCIREE | 20010205 | EOSX| | 5361 Rk 79.75 81.46 61.44 56.53 49.82
GITAIEF OFNY 1S5 (L&) | ABCISZE | 20010205 | TOHEX| | 4,406 ObE & 77.88 82.46 61.07 57.14 4932
CIFAE (A 2) SFRCH2EE | 20010205 | HOiEX| 220 g - - - - -
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Lt (CflAl) 2012. 93 2t 2iXY 1012t A[of RAI&
- (A) 20021 (1. 1~12. 31)2] Al A4 : 1,000
- (B) 2002!4(1. 1~12. 31)0f| EfArRRE| O &2 A S
- (O (A+B) & 2012. 9 ENHX| EtALZ O & A== : 30
- (D) (A+B) & 2012. 9 UMIK| SR & H %4744 : 20074
= 8X|& = (A+B-C-D) / (A+B-C) = 870 / 1,070 = 81.31%
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